Linear regression
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where 7 and 5 are the means of the z and y data respectively, and 3 means the sum over
all the data values.

Pearson’s correlation coeflicient is -
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A selection of students were asked how many phone calls and text messages they had received the
previous day. The results are shown below.
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a Draw a scatter diagram of the data.
b Caleulate .
© Describe the lincar correlation between phone calls received and text messages received.
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A group of children were asked the number of hours they spent exercising and watching television
each week.
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Draw a scatter diagram for the data b Caleulate 7.
Describe the correlation between fime exercising and time watching television.

Find the equation of the least squares line of best it

Give an interpretation of the gradient and the y-intercept of this line.

Another child exercises for 5 hours each week. Estimate how long he spends watching television
each week.





